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1 B4 EALEE L HAAL A
HIRL o0 FLIR =555 5 (1) kg 395.00
2|HLE FLIRE = ”<£ (FR) e 3.60
3|k (ﬁ):—vﬁuu kg 1,560.00
4| T REZS. FLIE =55 5 (BR) kg 1,650.00
5|H 0L (Hi)*ﬂ@z kg 97.00
6L FLIR =557 5 (1) kg 350.00
=~ (B Al kg 420.00
8|72V B (BR) 7 Vv ez Kig /K pE kg 2,300.00
9| =—LH=R FLIR =55 7 28 (BR) kg 460.00

10|B1ZIESCA LA (B Kl kg 332.00
11|BTADF H A2 B0 (BK) 1 159.00
12|5HUB (Bk) 7 Vv aa KgKFE kg 1,300.00
13| ke H AR #8820 () 1 40.00
41T AE FLIR =57 5 (1) kg 720.00
15| A& (B Al kg 125.00
16{125 FLIR =557 5 () kg 850.00
IVIEES FLIR =5 & (%) kg 70.00
18| x> (BK) Al kg 74.00
19[LHA FLIR =5 & (%) kg 330.00
20(7>5 FLIR =557 5 () kg 270.00
21| KR FLIE =75 5 (BR) kg 78.00
2|77 4= FLIR =557 5 () kg 1,450.00
23| Z1FEH (k) il Bk kg 198.00
24| B FLIR =57 3 () kg 310.00
25| E% FLIR = 5575 3R (BR) kg 82.00
261 JIX (B Al kg 398.00
277+ FLIR =5 5 (BK) kg 540.00
28[F~h FLIR =575 5 (%) kg 570.00
29[2=h~F FLIRE =5 5 (BK) kg 940.00
30/ FLIE = %%%(1%) kg 480.00
31| HDHE FLIR =5 5 () kg 1,060.00
32| AEHMEE FLIE = (BR) kg 720.00
BlroxrHE FLIE = *RBE (Fk) kg 280.00
34z FLIE = %%%(Ek) kg 275.00
35( A A FLIRE = 575 5 (k) kg 270.00
6| SLvTFLLY FLIE = (FK) kg 346.00
7L~ FLIE *%%S'E (BR) kg 355.00
38[AL FLIR =55 75 SR (BR) kg 480.00
39|23 FLIR =557 5 (1) kg 197.00
40| \AL T )V FLIR =557 SR (BR) kg 186.00
41|FAT —Y FLIR =50 5 (BF) kg 565.00
42|14 H o B —1 (BK) kg 2,080.00
43| A b B—hBR) kg 1,080.00
447 LA b B —b (BK) kg 2,000.00
45|~ —z o B —b (k) kg 1,580.00
46|71 T R R AT AL | A 46.00
47| 50DA (Bk) 7 voaa Rig/KiE kg 1,200.00
48| .50B (BR) 7 aa KRG /KE kg 1,200.00
|HENTex H PR T3 (BE) A 1,010.00
50 HE< B (Bk) 7 vvaa Kig/KpE kg 2,200.00
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51|78 L HELH () a—U8 kg 446.00
52| K LI =55 3 (BF) kg 240.00
53|IFH A (F)za—URMm N 430.00
S4|BERI DT- 1 E ) N 880.00
55| FEH A H AR & (BR) {E] 888.00
56| X ARB DT (B)=2—URMN A 355.00
57T —A H AR E & (BR) %N 313.00
58| H E U KAR (B Al kg 475.00
595 BRE e D H AR &0 (BR) 13 538.00
60| KD H IV b BI—h (k) kg 1,080.00
61{F 7 P A FLIR =50 5 () kg 375.00
62| R H AR H B dh (BK) 1l 29.00
63| LAz AKE (BK) Al g kg 408.00
64| A =F T — H A5 # B0 (BK) 4% 582.00
65|72V A (BR) 7o Kig/KE kg 2,500.00
66|/ AT A A B (BR) 1 48.00
67| EfTEtexz Y () R )\E kg 5,800.00
68[¢0 i E B H AR B (BR) S 550.00
69| FNAIBAL AT —F ) — 2R e GS) N 925.00
T0[ R e S () =2—URM 1 58.00
71|V ¥ FLIR =557 5 () kg 380.00
72|DFea—7 L T R R AT R | 87.00
73| EHL (k) Hiil ik kg 319.00
TA[WE % F) — A (Fk) & -85 N 925.00
75|21 EY Y TH H AR B0 (BK) kg 782.00
76| R —~> FLIE =57 8 (BR) kg 890.00
T|fET7L—2 (B)=2—URMN 1 740.00
784 —7"IH BRURS £ T3E (BK) ZN 700.00
T HRLIE S T+ r—F (B)=2—URMN 1l 594.00
80[ v Xy FakL o s H AR TR £ in (BR) %N 625.00
81|#fi FLIR =55 5 () kg 340.00
82[aF v H AR EE £ in (BR) 1 282.00
83| DAk (k) W HH psi i kg 100.00
84| KT /K& H Kx%ﬁm (FK) A 463.00
85[sE —~ FLIE = (BR) kg 890.00
86[/k 32 mvﬂi (R kg 500.00
87|4 K LR =55 (FK) kg 290.00
88|#R7=5B ($%>7¢/“T7D:j<%7k% kg 1,850.00
89[F B TH H A # Bdh (BK) s 844.00
90Ky = —AFEGI A b B —h(BR) kg 1,380.00
91|FH TV YT R R AT E | A 46.00
R ANT AR — 2T A A H AR £ ih (BR) ® 1,110.00
934 E A LI =48 51 (BF) kg 155.00
94| F\uNiZiF FLIR =557 5 (1) kg 720.00
95| —7 L&A FLIR =557 5 () kg 460.00
964 — ALV A b B—hBR) kg 6,200.00
97| FER (F)a—URih i) 600.00
98| HLJE- £ (FaX AD) H AR & (BK) s 330.00
9[RBT HbH W b B —b (BK) kg 1,180.00
100|B O &aay sy WA B (BR) {E] 50.00
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1017 A H A RFE B0 (BR) kg 600.00
102| B 0O BT I T P —h H AR/ L (B) 45 538.00
103|vKFAHL —DFH PP (BR) % 1,150.00
104 TR K R J5E 72 H A # B dh (BK) 4% 490.00
105|733 FE N7 U 2V I H AR & (BR) 1 56.00
106| MR EJE L) FU H AR/ oL (BK) N 409.00
07| L BF=n 50T L — A ALY | B AR A () e 532.00
108].50C (Bk) 7 vvaa KRG /KE kg 1,200.00
L[ IRV NET TAN—T A B (BR) {E] 108.00
10| — 2 H AR/ oL (BK) ZN 168.00
1114 ERDFR (k) & -2 b 13 855.00
12| HHE LR — (B —F) (B & L& 4 350.00
13| — 2N v 7 Vv 7 H b = (BR) kg 1,480.00
L1438 A Y — A (F)a—URih S 1,180.00
115/ B 2 & 50T (F)a—UR M E 469.00
116|572 b 8 (H)=2—URMH 18 1,760.00
117 & ks DB (BR) 7 Voo KRG KE kg 1,300.00
118|H,9°< (Bk) ‘& A kg 785.00
19| BF TV D (BR) & L& N 1,160.00
120 F dp & AE B FLIR =55 75 5 (BR) kg 540.00
1215 a AT —F b E— () e 70.00
122|726 X H KA (k) Al A 1,750.00
123|BHT tus 2l (BR) & L& 5% 800.00
124|K e — AR 1~ b B —h () B 148.00
12573 gLk (B)2—U& M 1 76.00
126|777 X ray b a—A (— ) B L s s ALR S5 2 P 1l 72.00
127| 7 v RT3y i e ACES) " 800.00
128| IR 4AEHED (Bk) 7 vvaa Kig/KpE 18 1,200.00
129|BBR1 IVST WF= s S0 TF— G LY | B A A (BR) 4% 559.00
130| VAR vy H AR ZE &L (BR) %N 700.00
131 AR & A A G5 ()2 —U &M " 800.00
132| B ER T &R H AR ZE &0 (BR) 1% 1,188.00
133| By Hhbb AT —% b B —b (k) K 110.00
134 HRS ST (F)za—URMm kg 724.00
135|337 DFE (Aha~)—) H AR5 H B0 () s 807.00
136 |8 E LRy s (k) & -2 b ZN 745.00
137 R BES H D E N1 H AR H B 0h (BK) N 217.00
138|192 %) K FLIR =55 5 () kg 375.00
139|F~v A —F D (BK) & L& 18 1,250.00
140|$R7eoB () R\ & kg 4,800.00
141|882 OHh -1 HHUEB () R\ kg 5,000.00
142\t HARA T A7) — I (BR) ‘& L& 1 240.00
43| RKINT TV DFE (BK) ‘& L= dh s 835.00
144 |5 UBkIR A () IR\ & kg 1,650.00
145 | A HRE (B)=2—URMH, 18 340.00
146| D S ST AR T TAIN—T WA B (BR) & 102.00
147|589 KL =257 5 () kg 650.00
148| =L T (F)2—UR M 1 34.00
149| U= 23, LR =5 75 58 (BR) kg 75.00
150| A—2 A FLIE =55 5 (BF) kg 125.00




SHAFELIAMAD K AL ALEALZR (RH)

P Ea BELEE 4 AT A
15— A — R — H A RFE B0 (BR) ZN 550.00
152 L L LI B Akt e ACES) 1 75.00
153/ B ELE 1) KIS EEFITEA (H)=—Ufdh e 196.00
1542 —ANLZT A 2 o B —b (BE) kg 1,250.00
155| igE /o721 () za—URMm ZN 1,290.00
156|553 LDFE (BR) & & N 1,298.00
157 E L Xkt () za—URMm 13 380.00
158 T-H10 )5 (BR) & H &b N 280.00
159/ METYID LA 2= ()= —URM 13 290.00
160|/NZE R (B)=2—URMN N 130.00
161|{S>F g, FLIR =557 5 (1) kg 265.00
162| 7V —2 T AT T A FLIR =555 5 (1) kg 1,520.00
163[LALDL FLIR =535 5 (k) kg 590.00
164 | FEBE L (— ) Bl s = ALIR S5 2P 1 93.00
165|F~FE 2 —L—1F (F)a—UR M ] 210.00
166|LE Rt (H)=2—URMH N 260.00
167| AT HATAAT — R (— ) Bl AL S e 44.00
168/ DN H7& (H)=2—URMH 18 132.00
169187 L — R — Y — & (F)2—UR M N 433.00
170| W R 2 VIR D E LT () =2—URM 18 900.00
L7175kt (B)2—UR M N 395.00
172|777 AR =V H ARSI £ (BR) 1 588.00
173|530 5 D AA (B)2—UR MW N 1,210.00
174|2—b—B)—3Iy I ADHE S g (BK) K 1,850.00
175 RO LI H AR B0 (BK) A 700.00
176 & H A3 100 (1K) kg 104.00
177l —7> H AR/ L (BR) kg 750.00
178/ NS A — H AR B0 (BR) & 24.00
179(72 D H D3 Habk ()2 —U R £ 19.00
180|720 BB i — L A— (k) B A FLIR = ZE 7T {E] 112.00
181 | EIEI VA EL H A2 B0 (BK) kg 694.00
182| 7 N F— R — K — (k) & A AL = T {E] 125.00
183|4FEL o B —b (BE) kg 9,000.00
184 | Y it LI 1A k) () a—U8 A 368.00
185| K3 —h (B)=2—URMN 1 185.00




